
Mathematics: Order of Operations Demo (D-1)
CHALLENGE

Name:

Time: Score: /

137)

(32÷ 4) + (((0× 7)× (−10z))× (54÷ (−6))÷ 8) =

138)

30÷ (−3)÷ ((((0z × (−2x) + 5))))÷ (−1)− (5z × 2) =

139)

(((8z + 2z)− 0z)÷ 10)× 0÷ (10y + 0 + (−1y)) =

140)

(((4x + (−9)) + 3))− 10÷ (−10)− (4x + 0y − 6) =

141)

(((40y ÷ 10× 0× (−7x) + (−5z) + (−1z)))÷ (−6z))− 9 =

142)

(((8z + (−6))÷ 1))× (((5z + (−6) z) + 7) + 1) + (−4) =

143)

(((6− 6)÷ (−2z)÷ 6)÷ ((2y − 20)))× (16y ÷ (−8)) =

144)

(9 + x) + (−9y)÷ ((3− 0y × ((11− (−2z) + 2z)))) =
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